Recommendation for Renewal Kindergarten - 4th Grade Math Curriculum Resources

Rationale:

Our current math resource, Into Math, is up for renewal.

Recommendation:

The *Into Math* curriculum published by HMH is recommended for renewal as our Kindergarten through 4th grade math resource.

Process:

In order to arrive at this recommendation, the district engaged in the following process.

- April 2024
 - A survey was sent to all K-4 teachers asking if we should renew or go through the curriculum adoption process in 24-25 in order to select a new resource.
 - The quantitative feedback was evenly split, but the comments provided by teachers included more comments about keeping the math resource due to a recent new ELA adoption and our MTSS work with our current math resource.
 - The decision was made to keep Into Math for 3 more years.
- March 2025
 - A survey was sent to all K-4 teachers asking about the online platform for students and student usage.
 - o Based on the feedback, online student access will not be purchased.

Cost Summary:

Resource Materials

Includes online teacher materials, student consumables, and shipping.

Resource	Total Cost for 3 Years	
Into Math by HMH - grades K-4	\$52,572.77	

Attachments:

Quote



Proposal #009291223 Prepared For North Boone Cmty Unit SD 200

Attention:
Kari Neri
kneri@nbcusd.org

For the Purchase of:

Into Math K-4 Version 1 Student Print Materials 3 YR

Prepared By
Katherine Burke
katherine.burke@hmhco.com

Please submit this proposal with your purchase order.

Purchase orders or duly executed service agreements for **Professional Services** purchased, must be submitted at least 30 days before the service event date.

For greater detail, the complete Terms of Purchases may be reviewed here:

http://www.hmhco.com/common/terms-conditions

Send Check Payments to: HMH Education Company 14046 Collection Center Drive Chicago, IL 60693 Attention: Kari Neri kneri@nbcusd.org Send <u>Orders</u> to: orders@hmhco.com FAX: 800-269-5232

Proposal for North Boone Cmty Unit SD 200

Expiration Date: 6/2/2025

	North Boone Chity Onk Si	5 2 0 0		
ISBN	Title	Price	Quantity	Value of A Materials
Grade	K			
Teacher Digital	Licenses			
869565 978035895214		\$270.00	5	\$1,350.00
	es: Version 1 Teacher License Digital 3 Year Grades K-5 · Teacher's Corner			
	er Digital Licenses			
	s Available for Purchase			
Student Materia				
61566 978035818208		\$49.55	95	\$4,707.25
'61602 978035818247		\$21.20	86	\$1,823.20
Total for A la C	arte Items Available for Purchase			
otal for Grade K		\$7,880.45		
Grade	1			
The second Particle of	Licenses			
leacher Digital				
- 69565 978035895214		\$270.00	6	\$1,620.00
369565 9780358952149 Package Includ Into Math		\$270.00	6	\$1,620.00
369565 978035895214: Package Includ Into Math Access to	es: Version 1 Teacher License Digital 3 Year Grades K-5	\$270.00	6	\$1,620.00
869565 9780358952149 Package Includinto Math Access to	es: Version 1 Teacher License Digital 3 Year Grades K-5 Teacher's Corner	\$270.00	6	\$1,620.00
369565 9780358952149 Package Includ Into Math Access to	es: Version 1 Teacher License Digital 3 Year Grades K-5 Teacher's Corner er Digital Licenses S Available for Purchase	\$270.00	6	\$1,620.00
9780358952148 Package Includ Into Math Access to Total for Teach A la Carte Items Student Materia	es: Version 1 Teacher License Digital 3 Year Grades K-5 Teacher's Corner er Digital Licenses S Available for Purchase	\$270.00 \$60.10	91	
9780358952148 Package Includ Into Math Access to Total for Teach A la Carte Items Student Materia	es: Version 1 Teacher License Digital 3 Year Grades K-5 Teacher's Corner er Digital Licenses S Available for Purchase			\$1,620.00 \$5,469.10
9780358952148 Package Includ Into Math Access to Total for Teach A la Carte Items Student Materia	es: Version 1 Teacher License Digital 3 Year Grades K-5 Teacher's Corner er Digital Licenses a Available for Purchase als 2 2020 Into Math Student Edition Collection with Practice and Homework			
369565 9780358952148 Package Includ Into Math Access to Total for Teach A la Carte Items Student Materia 314914 9780358608666 Total for A la Carte Item A la Carte Item S	es: Version 1 Teacher License Digital 3 Year Grades K-5 Teacher's Corner er Digital Licenses 6 Available for Purchase 10 2020 Into Math Student Edition Collection with Practice and Homework Journal Set 3 Year Print Grade 1			
369565 9780358952148 Package Includ Into Math Access to Total for Teach A la Carte Items Student Materia 314914 9780358608666 Total for A la Ca otal for Grade 1 Grade	es: Version 1 Teacher License Digital 3 Year Grades K-5 Teacher's Corner er Digital Licenses S Available for Purchase 10 2020 Into Math Student Edition Collection with Practice and Homework Journal Set 3 Year Print Grade 1 arte Items Available for Purchase	\$60.10		
Package Included Into Math Access to Total for Teach A la Carte Items Student Materia B14914 9780358608666 Total for A la Carte Items Student Materia Gotal for Grade 1 Grade Teacher Digital	es: Version 1 Teacher License Digital 3 Year Grades K-5 Teacher's Corner er Digital Licenses S Available for Purchase als 2 2020 Into Math Student Edition Collection with Practice and Homework Journal Set 3 Year Print Grade 1 arte Items Available for Purchase	\$60.10 \$7,089.10	91	\$5,469.10
369565 9780358952148 Package Includ Into Math Access to Total for Teach A la Carte Items Student Materia 314914 9780358608666 Total for A la Carte Items 169565 9780358608666 Package Includ	es: Version 1 Teacher License Digital 3 Year Grades K-5 Teacher's Corner er Digital Licenses S Available for Purchase als 0 2020 Into Math Student Edition Collection with Practice and Homework Journal Set 3 Year Print Grade 1 arte Items Available for Purchase 2 Licenses 5 Into Math Teacher License 3 Year Grades K-5 es:	\$60.10		\$5,469.10
169565 9780358952148 Package Includ Into Math Access to Total for Teach A la Carte Items Student Materia 114914 9780358608666 Total for A la Carte Items Otal for Grade 1 Grade Teacher Digital 169565 9780358952148 Package Includ Into Math	es: Version 1 Teacher License Digital 3 Year Grades K-5 Teacher's Corner er Digital Licenses a Available for Purchase a) 2020 Into Math Student Edition Collection with Practice and Homework Journal Set 3 Year Print Grade 1 arte Items Available for Purchase 2 Licenses 5 Into Math Teacher License 3 Year Grades K-5	\$60.10 \$7,089.10	91	\$5,469.10
169565 9780358952144 Package Includ Into Math Access to Total for Teach A la Carte Items Student Materia 114914 9780358608666 Total for A la Ca Otal for Grade 1 Grade Teacher Digital 169565 9780358952144 Package Includ Into Math Access to	es: Version 1 Teacher License Digital 3 Year Grades K-5 Teacher's Corner er Digital Licenses 5 Available for Purchase als 0 2020 Into Math Student Edition Collection with Practice and Homework Journal Set 3 Year Print Grade 1 arte Items Available for Purchase 2 Licenses 5 Into Math Teacher License 3 Year Grades K-5 es: Version 1 Teacher License Digital 3 Year Grades K-5	\$60.10 \$7,089.10	91	\$5,469.10
Frackage Included Into Math Access to Total for Teach A la Carte Items Student Materia 114914 9780358608666 Total for A la Carte Items Student Materia 114914 9780358608666 Total for A la Carte Items Grade Teacher Digital 169565 9780358952146 Package Included Into Math Access to Total for Teacher	es: Version 1 Teacher License Digital 3 Year Grades K-5 Teacher's Corner er Digital Licenses S Available for Purchase a) 2020 Into Math Student Edition Collection with Practice and Homework Journal Set 3 Year Print Grade 1 arte Items Available for Purchase 2 Licenses S Into Math Teacher License 3 Year Grades K-5 es: Version 1 Teacher License Digital 3 Year Grades K-5 Teacher's Corner	\$60.10 \$7,089.10	91	\$5,469.10
369565 9780358952144 Package Included Into Math Access to Total for Teach A la Carte Items Student Materia 314914 9780358608666 Total for A la Carte Items Otal for Grade 1 Grade Teacher Digital 369565 9780358952145 Package Included Into Math Access to Total for Teacher	es: Version 1 Teacher License Digital 3 Year Grades K-5 Teacher's Corner er Digital Licenses a Available for Purchase als 2 2020 Into Math Student Edition Collection with Practice and Homework Journal Set 3 Year Print Grade 1 arte Items Available for Purchase 2 Licenses 5 Into Math Teacher License 3 Year Grades K-5 es: Version 1 Teacher License Digital 3 Year Grades K-5 Teacher's Corner er Digital Licenses 5 Available for Purchase	\$60.10 \$7,089.10	91	\$5,469.10
369565 9780358952148 Package Includ Into Math Access to Total for Teach A la Carte Items Student Materia 314914 9780358608666 Total for A la Carte Items Grade Teacher Digital 369565 9780358952148 Package Includ Into Math Access to Total for Teache A la Carte Items Student Materia	es: Version 1 Teacher License Digital 3 Year Grades K-5 Teacher's Corner er Digital Licenses 6 Available for Purchase als D 2020 Into Math Student Edition Collection with Practice and Homework Journal Set 3 Year Print Grade 1 arte Items Available for Purchase 2 Licenses 6 Into Math Teacher License 3 Year Grades K-5 es: Version 1 Teacher License Digital 3 Year Grades K-5 Teacher's Corner er Digital Licenses 6 Available for Purchase 18	\$60.10 \$7,089.10	91	\$5,469.10 \$1,620.00
369565 9780358952148 Package Includ Into Math Access to Total for Teache A la Carte Items Student Materia 314914 9780358608666 Total for A la Carte Items Grade Teacher Digital 369565 9780358952148 Package Includ Into Math Access to Total for Teache A la Carte Items Student Materia 261568 9780358182108	es: Version 1 Teacher License Digital 3 Year Grades K-5 Teacher's Corner er Digital Licenses 6 Available for Purchase als 2 2020 Into Math Student Edition Collection with Practice and Homework Journal Set 3 Year Print Grade 1 arte Items Available for Purchase 2 Licenses 5 Into Math Teacher License 3 Year Grades K-5 es: Version 1 Teacher License Digital 3 Year Grades K-5 Teacher's Corner er Digital Licenses 6 Available for Purchase als 2 2020 Into Math Student Edition Collection 3 Year Print Grade 2	\$7,089.10 \$270.00	91	\$5,469.10 \$1,620.00 \$4,211.78
369565 9780358952148 Package Includ Into Math Access to Total for Teach A la Carte Items Student Materia 314914 9780358608666 Total for A la Carte Items Grade Teacher Digital 369565 9780358952148 Package Includ Into Math Access to Total for Teach A la Carte Items Student Materia 761568 9780358182498	es: Version 1 Teacher License Digital 3 Year Grades K-5 Teacher's Corner er Digital Licenses 6 Available for Purchase als 2 2020 Into Math Student Edition Collection with Practice and Homework Journal Set 3 Year Print Grade 1 arte Items Available for Purchase 2 Licenses 5 Into Math Teacher License 3 Year Grades K-5 es: Version 1 Teacher License Digital 3 Year Grades K-5 Teacher's Corner er Digital Licenses 6 Available for Purchase als 2 2020 Into Math Student Edition Collection 3 Year Print Grade 2 Into Math Practice and Homework Journal 3 Year Print Grade 2	\$7,089.10 \$270.00 \$49.55 \$21.20	91 6 85 102	\$5,469.10 \$1,620.00 \$4,211.78 \$2,162.40
B69565 9780358952148 Package Includ Into Math Access to Total for Teach A la Carte Items Student Materia B14914 9780358608666 Total for A la Carte Items Grade Teacher Digital B69565 9780358952148 Package Includ Into Math Access to Total for Teach A la Carte Items Student Materia 761568 9780358182108	es: Version 1 Teacher License Digital 3 Year Grades K-5 Teacher's Corner er Digital Licenses 6 Available for Purchase als 2 2020 Into Math Student Edition Collection with Practice and Homework Journal Set 3 Year Print Grade 1 arte Items Available for Purchase 2 Licenses 5 Into Math Teacher License 3 Year Grades K-5 es: Version 1 Teacher License Digital 3 Year Grades K-5 Teacher's Corner er Digital Licenses 6 Available for Purchase als 2 2020 Into Math Student Edition Collection 3 Year Print Grade 2 Into Math Practice and Homework Journal 3 Year Print Grade 2 Into Math Practice and Homework Journal 3 Year Print Grade 2 Ito: Into Math Practice Attention: Kari Neri	\$7,089.10 \$7,089.10 \$270.00 \$49.55 \$21.20	91	\$5,469.10 \$1,620.00 \$4,211.73 \$2,162.40

Proposal for North Boone Cmty Unit SD 200

Expiration Date: 6/2/2025

ISBN

Title

Price

Quantity

Value of All Materials

Total for A la Carte Items Available for Purchase

Total for Grade 2	\$7,994.15		
Grade 3 Teacher Digital Licenses			
1869565 9780358952145 Into Math Teacher License 3 Year Grades K-5 Package Includes: Into Math Version 1 Teacher License Digital 3 Year Grades K-5 Access to Teacher's Corner	\$270.00	6	\$1,620.00
Total for Teacher Digital Licenses			
A la Carte Items Available for Purchase			
Student Materials			
1761569 9780358182146 2020 Into Math Student Edition Collection 3 Year Print Grade 3	\$49.55	77	\$3,815.35
761605 9780358182504 Into Math Practice and Homework Journal 3 Year Print Grade 3	\$21.20	78	\$1,653.60
Total for A la Carte Items Available for Purchase			
Total for Grade 3	\$7,088.95		
<u>Grade 4</u> Teacher Digital Licenses			
869565 9780358952145 Into Math Teacher License 3 Year Grades K-5 Package Includes: Into Math Version 1 Teacher License Digital 3 Year Grades K-5 Access to Teacher's Corner	\$270.00	6	\$1,620.00
Total for Teacher Digital Licenses			
A la Carte Items Available for Purchase			
Student Materials			
761570 9780358182153 2020 Into Math Student Edition Collection 3 Year Print Grade 4	\$49.55	93	\$4,608.15
761606 9780358182511 Into Math Practice and Homework Journal 3 Year Print Grade 4	\$21.20	84	\$1,780.80
Total for A la Carte Items Available for Purchase			
Total for Grade 4	\$8,008.95		

Send Check Payments to: HMH Education Company 14046 Collection Center Drive Chicago, IL 60693 Attention: Kari Neri kneri@nbcusd.org Send <u>Orders</u> to: orders@hmhco.com FAX: 800-269-5232

Proposal for North Boone Cmty Unit SD 200

Expiration Date: 6/2/2025

ISBN

Title

Price

Quantity

Value of All Materials

Total Savings: Subtotal Purchase Amount: Shipping & Handling: \$0.00 \$38,061.60 \$14,511.17

Total Cost of Proposal (PO Amount):

\$52,572.77

Please add proper sales tax to your order

Send Check Payments to: HMH Education Company 14046 Collection Center Drive Chicago, IL 60693 Attention: Kari Neri kneri@nbcusd.org Send <u>Orders</u> to: orders@hmhco.com FAX: 800-269-5232

Proposal for North Boone Cmty Unit SD 200

Total Cost of Proposal (PO Amount): \$52,572.77

Thank you for considering HMH as your partner. We are committed to providing an excellent experience and delivering ongoing, high-quality service to our customers. To meet these goals, we want to ensure you are aware of the below Terms of Purchase. These terms help us process your order quickly, efficiently, and accurately, ensuring successful delivery and implementation of our solutions.

- Please return this cost proposal with your signed purchase order that matches product, prices and shipping charges.
- Provide the exact address for *delivery* of print materials. The shipping address may be your district warehouse or individual school sites, but it is essential that this is accurate.
- Please supply the name of each important district point of contact for all aspects of the solution including their direct contact information (email/phone):
 - o Point of Contact for Print materials
 - o Point of Contact for Digital materials
 - o Point of Contact for Scheduling Professional Development
 - o Email address for Accounts Payable contact
- · Please confirm that we have the correct 'Ship to' and 'Sold to' information on the cost proposal.

Ship to:

North Boone Community Unit SD 200 6248 N Boone School Rd

Poplar Grove, IL 61065-8548

Topiai Grove, in 01000-0040

Sold to:

North Boone Community Unit SD 200

Expiration Date: 6/2/2025

6248 N Boone School Rd

Poplar Grove, IL 61065-8548

- Please provide funding start and end dates.
- · Please note HMH bills products and services as they are fulfilled. You may receive multiple invoices for your order.
- HMH reserves the right to transmit documents electronically.
- Our payment terms are 30 days from the invoice date.
- Print subscription material quantities may be adjusted across grades for like products, to accommodate enrollment fluctuations, quantities cannot be adjusted between different programs or copyrights.
- · Our shipping terms are FOB shipping point. The shipping term for your proposal is Shipping Point.
- · Any proposed shipping or tax amount provided on this proposal, is based on the Ship To account location quoted within.
- · If the location of your delivery changes, please include the proper sales tax and shipping charges for that location in the applicable Purchase Order
- Should any of these Terms of Sale conflict with any preprinted terms on your purchase order, the HMH terms of service shall apply

Thank you in advance for supplying us with the necessary information at time of purchase.

Our goal is to ensure your success throughout the duration of this agreement, which starts with a highly successful delivery of our solution.

For greater detail, the complete Terms of Purchase may be reviewed here: http://www.hmhco.com/common/terms-conditions

Date of Proposal: 3/18/2025 Proposal Expiration Date: 6/2/2025



Send <u>Check Payments</u> to: HMH Education Company 14046 Collection Center Drive Chicago, IL 60693 Attention: Kari Neri kneri@nbcusd.org Send <u>Orders</u> to: orders@hmhco.com FAX: 800-269-5232

HMH Confidential and Proprietary